109 & 7= & 7|

AT RE TS 5 AR D 2k

B
¥
%
=3
@2\
v
poas
B
A
¥
e
C
3
&3

v R T RPN R
@%Li\mm&é?i?
TE KRR LPRP 0 & 5 B

LRI - R

boE

THRF T EY T - B7 FaE o ¥
ﬂ-‘if‘l' = é‘}%ﬁ»\:‘}vmm’{jm : %\ B
BTN T REMNIET R G+ K

TS AR 1

"<”’1‘/%:"l%§_§3 ’x
FE Sl iV EoEol
ENE EL AR 3= R o

A A

A/D, D/A
HinE

o A
VLSIfr & € 5% S .

~ LR RS SR

Bl 1: 2N #%I

AFETRDAN Z AT RL
4§ 40+ B (ZC-VDTA) eh T i #0530
ERAFRRFRFRTRCEL
REARTE A BTREIRT - B
ZC-VDTA ~ it 4r= Bk ch g h ~
BoRitet e Apr A RT B L

W%MH4”$*ﬁJ ’ﬂfi?ﬁiﬁm;

ZHRERT

zx]
E—F’Itji’\» s I '? ﬁ_,g: TK#‘J L’f"&; /ﬁ; F"‘«f $



B 2 % A% ZC-VDTA ~ i #74% )
TEART BT

BB > 4 ZC-VDTA % = B i ik

LI e 2

iﬁ@#’&m@ﬁg%%ﬁﬁﬁg

e B0 oo Lot oy oz 2 los

104)3;-5 A B *"‘“#’f%iﬁiﬂ!ﬁi\%
Fo X2 AN PE T  H A

ZC' VDTA x 2 |—* [-.‘.'-

Zcl4 74 7+ 7-

i

if-{ G I G I Iz

B 2: &~ 97k i3 ZC-VDTA eh g
/n‘-*ﬁ‘—q’\‘l #BJ_ %54/ﬁ‘;)§_f$

hOSE i ) e
RA TR

RS

A2 -2 T4 S % 3 100kHz @ 42

5 BT
¥ %E’ﬁ‘r'ng = 9ms = 62832“1’11 ’ R =

:?\;{IBF = IBS = 7921!J,A ’

1.6kQ fcCy = C, = Inf> B 3 &g Iie
B 2w g &k A5 (Tog > log > Ioz e

Iog) 087 &~ 47 > R T M5
99.509kHz -

Fop-

109 & 7= & 7|

.......

Bl3: A" THITINEN eI 2R
R E R B R

%4 =S H_./” *ﬁ}\TE 'B’%J ’I P Ju,.l‘:_';‘_

SEFR G OEHE BAER A
ZF(THD) : Ip1 5 3.39% >

m%

102:‘;» 306% ’
Ips % 3.48% » Ipy % 3.15% o

EEEERERY

e

e,
8 non 20 n 300 0m a0 . ]

Bl4: A= “Lr#%a,‘m 4{3-4\w AP RS
% “35%1 A1 15 B e E 3 )

B~ BRI ) > ks T e
FEM S PR AR ST 2 LR



